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451. What is the type of operation is carried out? 

fdl izdkj dk vkWijs”ku fd;k tk jgk gS? 
 

 
A. Straight groove lh/kh xzqo  B. Vee groove oh xzqo 
C. Round groove xksy xqzo         D. Square groove वर्गाकगर xzqo 

Answer-B 

452. What is the name of portion between root and crest of the thread? 
pwMh ds :V vkSj ØsLV ds chp ds Hkkx dk uke D;k gS? 
A. Root :V   B. Flank ¶ysd 

C. Depth MsIFk  D. Thread angle थे्रड एंर्ल 

Answer-B 

453. What is the principle of dial test indicator? Mk;y VsLV bafMdsVj dk fl)kar D;k gS 
A. Sliding LykbfMax  B. Screw and nut LØw vkSj uV 

C. Rack and pinion jSad vkSj fifu;u D. Worm and worm wheel वर्ा और वर्ा व्हील  

Answer-C 

454. Which dimension is measured by using screw thread micrometer? 
LØw FkszM eksbØksehVj dk mi;ksx djds fdl Mk;esa”ku dks ekik tkrk gS\ 
A. Pitch of screw thread LØw FkszM dh fip 

B. Minor dia of screw thread LØw FkszM dk ekbuj O;kl 

C. Major dia of screw thread LØw FkszM dk estj O;kl 

D. Effective dia of screw thread LØw FkszM dk प्रभगवी O;kl 

Answer-D 
455. What type of power transmission is transmitted by spur gear? 

fdl izdkj dk ikWoj VªkWlfe”ku Lij fx;j }kjk lapkfjr gksrk gS\ 
A. Parallel transmission lekukarj lapj.k     B. Angular transmission dks.kh; lapj.k 

C. Intersecting transmission izfrPNsn lapj.k D. Perpendicular transmission लम्बवत lapj.k 

Answer-A 
456. How many types of bed ways are in centre lathe machine? 

lsUVj [kjkn e”khu es fdrus izdkj ds csM os gS? 
A. 2   B. 3 
C. 5   D. 6 
Answer-B 

457. What is the use of screw pitch gauge? 
LØw fip xst dk mi;ksx D;k gS? 
A. Check lead of the thread FkszM dh yhM dh tkWp djuk 

B. Check the pitch of the thread FkszM ds fip dh tkWp djuk 

C. Check the minor dia of thread FkszM dk ekbuj Mk;kehVj dh tkWp djuk 

D. Check the major dia of thread FkszM dk estj Mk;kehVj dh tkWp djuk 
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Answer-B 

458. What is the name of instrument? bl ;a= dk uke D;k gS\ 

 
 
A. Vernier micrometer ofuZ;j ekbØksehVj  B. Outside micrometer ckgjh ekbØksehVj 

C. Three wire micrometer rhu ok;j ekbØksehVj D. Screw thread micrometer स्क्रू थे्रड ekbØksehVj 

Answer-D 

459. What is the name of part marked as X in centre lathe ? 
dsanz [kjkn es x ds :i es fpfUgr Hkkx dk uke D;k gS? 

 
A. Apron ,izu   B. Saddle lSMy 

C. Cross slide Økl LykbM  D. Top slide टॉप LykbM 

Answer-A 

460. What is the name of part marked as X? x ds :i es fpfUgr Hkkx dk uke D;k gS\ 

 

A. Dyp   B. QhM flysDVj 

C. [kjkn fLiaMy  D. Feed direction lever फीड डगयरेक्शन लीवर  

Answer-D 

461. What is the name the specification of lathe marked as X? 
fpfUgr x ds :i es fpfUgr [kjkn ds fofunsZ”ku dk uke D;k gS\ 



 

 

 
A. Bed length csM dh yackbZ  B. Centre height lsUVj gkbV 

C. Swing diameter fLoax O;kl D. Length between centre dsanz ds chp dh yackbZ 

Answer-B 

462. What is the purpose of back gear unit in lathe machine?  
[kjkn e”khu es cSd fx;j ;wfuV dk mn~ns”; D;k gS\ 
A. Reduce the spindle speed fLiaMy dh xfr de djsa 

B. Increase the spindle speed fLiaMy dh xfr dks c<k,W 

C. Quick change spindle speed fLiaMy dh dks tYnh cnyuk 

D. To avoid abnormal impact on spindle धरुी पर असगर्गन्य प्रभगव से बचने के ललए  

Answer-A 

463. What is the name of gauge? Xkst dk uke D;k gS\ 

 

A. Ring gauge fjax xst  B. Screw Pitch gauge स्क्रू fip xst 

C. Feeler gauge Qhyj xst D. Radius gauge रेलडयस र्ेज  

Answer-B 

464. What is the range of pitch that can be measured by screw thread micrometer? 
fip dh lhek D;k gS ftls LØw FkszM ekbØksehVj }kjk ekik tk ldrk gS? 
A. 0.01 to 0.5 mm B. 0.02 to 3.5 mm 
C. 0.25 to 3.5 mm D. 0.5 to 2.5 mm 
Answer-C 

465. What is the range of metric screw thread dimension is measured by screw thread 
micrometer?eSfVªd LØw FkszM foek dh fdl jsat dks LØw FkszM ekbØksehVj }kjk ekik tkrk gS? 
A. M1 to M6  B. M1 to M12 
C. M1 to M30  D. M1 to M50 
Answer-C 

466. Which chart is used to record the skill of the operator in practice? 
O;ogkj es vkWijsVj ds dkS”ky dks fjdkWMZ djus ds fy, fdl pkVZ dk mi;ksx fd;k tkrk gS\ 
A. Testing chart ijh{k.k pkVZ  B. Levelling chart ysofyax pkVZ 

C. Geometric chart T;kferh; pkVZ  D. Performance chart izn”kZu pkVZ 
Answer-D 

467. Which bearing withstands load is parallel to its axis? 
fdl fc;fjax dk Hkkj blds v{k ds lekukarj gksrk gS? 



 

 

A. Needle bearing uhMy fc;fjax  B. Thrust bearing FkzLV fc;fjax 
C. Plain bearing lknk fc;fjax  D. Split bearing fLifyV fc;fjax 

Answer-B 

468. Which belongs to Total Productive Maintenance? 
dkSu lk dqy mRiknu j[kj[kko ls lacaf/kr gS? 
A. Supply defective goods to the customers xzkgdks dks nks’kiw.kZ lkekuks dh lIykbZ djuk 

B. Unscheduled maintenance vfu/kkZfjr j[kj[kko 

C. Produces goods without increasing product quality mRIkkn dh xq.kork dks fcuk c<k;s 

oLrqvks dk mRiknu djrk gS 

D. Reduces maintenance cost j[kj[kko ykxr de dj nsrk gS 

Answer-D 

469. What is the high level formula for the lean manufacturing OEE? lean fofuekZ.k vksbZb ds 

fy, mPp Lrjh; lw= D;k gS? 
A. Availability x Quantity x Quality miyC/krk × ek=k × xq.kork 

B. Availability x Productivity x Quality miyC/krk × mRikndrk × xq.kork 

C. Product output x Quality x Availability mRikn vkmViqV × xq.kork × miyC/krk 

D. Product output x Quantity x Quality mRikn vkmViqV × ek=k × xq.kork 
Answer-B 
 

470. Identify the method of assembly technique? 
vlascyh rduhd dh fof/k dks igpkus\ 

 
A. Dowelling Mksosfyax B. Pinning fifuax 
C. Peening ihfuax  D. Staking LVsfdax 

Answer-A 

471. Identify the type of bolt? cksYV ds izdkj dh igpku djsa\ 

 

A. Bolt with clearance hole Dyhjsal gksy ds lkFk cksYV 

B. Body fit bolt ckWMh fQV cksYV 

C. Anti-fatigue bolt ,aVh QVhx cksYV  

D. T bolt Vh cksYV  
Answer-A 

472. Name the type of part shown in assembly technique. vlascyh rduhd es fn[kk, x, Hkkx ds izdkj dk uke 

crk,A 



 

 

 
A. Taper pin Vsij fiu  B. Split pin fLiYV fiu 

C. Cotter pin dkWVj fiu D. Spring pin fLIkzax fiu 

Answer-C 

473. What is the use of dowel in assembly technique? 
vlascyh rduhd es MkWosy dk mi;ksx D;k gS\ 
A. Accurate positioning of two or more parts nks ;k nks ls vf/kd Hkkxks dh lVhd fLFkfr 

B. Securing components together ,d lkFk ?kVdks dks lqjf{kr djuk 

C. Eliminate the need for drilling fMªfyax dh vko”;drk dks lekIr djs 

D. Increase the efficiency of fit fQV dh n{krk c<k, 

Answer-A 

474. Which maintenance record mention the date of commissioning of machine? 
fdl j[kj[kko fjdkWM es e”khu ds pkyw gksus dh rkjh[k dk mYys[k gS\ 
A. Inspection check list fujh{k.k tkWp lwph B. Equipment record midj.k fjdkMZ 

C. Product manual mRikn dh fu;ekoyh D. Servicing manual lfoZflax eSuqvy 

Answer-B 

475. What is the name of activity carried out to prevent break down of machinery in basic 
maintenance? 
cqfu;knh j[kj[kko es e”khujh ds VwV QwV dks jksdus ds fy, dh xbZ xfrfof/k dk uke D;k gS\ 
A. Routine maintenance:Vhu j[kj[kko B. Preventive maintenance fuokjd j[kj[kko 

C. Repairing activity ejEer dh xfrfof/k D. Inspection activity fujh{kd xfrfof/k 

Answer-B 

476. What is the use of spring pins? 
fLizax fial dk mi;ksx D;k gS\ 
A. Easy assembly and disassembly of parts vklku ls Hkkxks dh vlascyh vkSj fmlvlascyh 

B. Locate assemblies with wide tolerance in corresponding holes vlascyh es O;kid VkWyjsal 

ds lkFk vuq:i gksyd dk irk yxk,W 

C. Retain the parts in assembly vlascyh es Hkkxks dks fjVsu djuk 

D. Accurate positioning of parts  ikVZl dh ifj”kq) fLFkfr 

Answer-B 

477. Which bolt in the assembly prevent the relative movement between the workpieces? 
vlascyh es dkSu lk cksYV odZihl ds chp lkis{k pky dks jksdrk gS\ 
A. Anti-fatigue bolt ,aVh QVhx cksYV B. T bolt ‘VhcksYV 
C. Body fit bolt ckWMh fQV cksYV D. Self locking bolt lsYQ ykWfdax cksYV 

Answer-C 

478. Which assembly technique is similar to riveting method?  
dkSu lh vlsacyh rduhd fjosVbax fof/k ds leku gS\ 
A. Dowelling Mksosfyax  B. Pinning fifuax 

C. Peening ihfuax  D. Staking LVkfdax 

Answer-C 



 

 

479. Why extra clearance given between bearing and journal in the aluminium alloy 
bearing? 
,Y;wehfu;e feJ fc;fjax es fc;fjax vkSj tuZy ds chp vfrfjDr Dyh;jsal D;ks nh xbZ gS\ 
A. To overcome high thermal expansion mPp rkih; foLrkj ij dkcw ikus ds fy, 

B. To overcome learner expansion yhfu;j foLrkj ij dkcw ikus ds fy, 

C. To overcome coefficient expansion xq.kkad foLrkj ij dkcw ikus ds fy, 

D. To overcome lubricant to flow freely Lora= :i ls izokg djus ds fy, Lizsgd ij dkcw ikus ds 

fy, 

Answer-A 
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